True or False? A file system is the logical view of secondary memory that the operating system provides for the user.
Choose one answer. 
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	a. True 
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	b. False 
	 


True or False? A local-area network (LAN) connects a small number of nodes in a building or close geographic area.
Choose one answer. 
	[image: image3]
	a. True 
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	b. False 
	 


True or False? A file's extension is used to indicate what type of data it contains.
Choose one answer. 
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	a. True 
	 

	[image: image6]
	b. False 
	 


The mp3, au, and wav file extensions are generally used for which of the following?
Choose one answer. 
	[image: image7]
	a. text data file 
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	b. audio file 
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	c. image file 
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	d. word processing document 
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	e. program source file 
	 


True or False? The current file pointer indicates which record in a file is currently being accessed.
Choose one answer. 
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	a. True 
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	b. False 
	 


Which of the following is a high-level protocol used to log into a computer system from a remote computer?
Choose one answer. 
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	a. ping 
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	b. telnet 
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	c. port 
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	d. TCP/IP 
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	e. SMTP 
	 


True or False? Ethernet is based on a ring topology.
Choose one answer. 
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	a. True 
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	b. False 
	 


Which of the following is an IP program that can be used to test whether a particular network computer is active and reachable?
Choose one answer. 
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	a. ping 
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	b. telnet 
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	c. port 
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	d. TCP/IP 
	 

	[image: image25]
	e. SMTP 
	 


Which of the following is the currently active subdirectory?
Choose one answer. 
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	a. working directory 
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	b. directory tree 
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	c. root directory 
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	d. relative path 
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	e. absolute path 
	 


Which of the following is a device for converting an analog signal to a digital signal and back again?
Choose one answer. 
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	a. modem 
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	b. gateway 
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	c. node 
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	d. router 
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	e. repeater 
	 


True or False? Ethernet has become the industry standard for local-area networks.
Choose one answer. 
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	a. True 
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	b. False 
	 


Which of the following describes the process of dividing a message into small pieces and sending those pieces separately to the destination?
Choose one answer. 
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	a. backbone 
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	b. firewall 
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	c. bandwidth 
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	d. packet switching 
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	e. hostname 
	 


The gif, tiff, and jpg file extensions are generally used for which of the following?
Choose one answer. 
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	a. text data file 
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	b. audio file 
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	c. image file 
	 

	[image: image46]
	d. word processing document 
	 

	[image: image47]
	e. program source file 
	 


True or False? Only computers can be connected to a computer network.
Choose one answer. 
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	a. True 
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	b. False 
	 


True or False? An Internet backbone is a company that provides other companies or individuals with access to the Internet.
Choose one answer. 
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	a. True 
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	b. False 
	 


Which of the following is conceptually divided into logical records?
Choose one answer. 
	[image: image52]
	a. binary file 
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	b. direct access file 
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	c. sequential access file 
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	d. text file 
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	e. directory 
	 


True or False? It is illegal to use a txt extension with an audio file.
Choose one answer. 
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	a. True 
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	b. False 
	 


True or False? A ring topology is a LAN configuration in which a central node controls all message traffic.
Choose one answer. 
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	a. True 
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	b. False 
	 


True or False? The source code of a program is stored in a text file.
Choose one answer. 
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	a. True 
	 

	[image: image62]
	b. False 
	 


True or False? A user's ability to perform certain operations on a file depend on the permissions that user has been granted.
Choose one answer. 
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	a. True 
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	b. False 
	 


